1. Find the magnitude of the following vectors:
@ i+j+k (it) 35—2]’-%-6]5

1 &
P S : =k
(iit) 2t - 75 - 3k ) J_ J— \/’3‘
2. Find the position vector and magnitude of the following points:
(i) (0, 3, 4) (i1) (- 5,—4,-3).
A A A - A A A
3. (i) Show that the vectors a=i- 2j +kand b =4i - 8j +4*k are parallel.
(if) Show that the vectors 27 - 31"\ +4kand -4 +6 _]A _ 8k are collinear.
_(zzz) Show that the vectors 2 = 3£+ 21/'\ - 4IQ and Z) =— 62— 4f + 812 are unlike
vectors.

(iv) For what value of ‘p’ the vectors 3i + 2} +9%kandi —2 p_;' + 3k are parallel.

(v) Find the values of x, ¥ and z so that the vectors c_1)= xi +2f+zi; and

-

b =2+ yf +k are equal.

- . a — s A = - - -
4, Let a=i+2jand b=2i+j.Is|a|=|b| ? Are the vectors ¢ and p equal’

A A

If @ "L—j +k and b 27 +J +6k ﬁndthevalues of | a +Zb|and |3a"b'
IfAis(a,, a,, a,), AB is the vector blz + by _] + b3k find the coordinates of B:
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- -
1. Find the scalar product of the vectors a and 4 , where:

-

- A ~ A A A A
() a=8i—j+2k b=2+3]+3%

e

- A A A A A A
@) a=-i+]—-2k b=2 +3]—F.

_)
2. Find the value of A such that the vectors Z and b are perpendicular, where:

- A ~ A = N A N
@) a=2i+N+k b=i-2j+3F
- ~ '~ A = A . A
(1) a=3t+j -2k, b=i+Aj—3k

- A N A ~ A A

(i) a =21 + A +3k, b=3i + 25— 4k

R TN e L ias = n A -
W) a=i+2N +k, b=2{ +j-3k. .

- 8. Find the value of A so that the vectors 2i + 37—k and 47 + 6 J+AE are:

(i) parallel (ii) perpendicular to each other.

.

t . - - - - - A ~ ~
4. Find (a +3b)-(2a - b)if @ =i + j + 2%,
. 5.

‘ -

b =3f+2}—fc.

() Find the projection of the vector i — _; on the vector i + J.

(if) Find the projection of the vector ; + j + k& on the vector J.

(iii) Fingd the projection of the vector 2] + 3j + 2k on the vector 27 + 2 _; + 4k .
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A = & & A2 = 4 i

1. Find the vector a x b where: a=2i - j+k and b =3i — 4 + 4k.
- - = =3 = 2 4 g & A A

2. Verifythat p x @ =—(a x b) where: a =i+ j and b =3; — j + k.

. - -
3. (i) Find the angle between two vectors ¢ and & with magnitudes 1 and 2

- -5
respectively and when | a x b |=+/3.

-

(ii) Find the value of p if (2] + 6 +274) x ({ + 8] + pb) = 0

- A ~ A
(iii) Write the value of p for which a = 3i + 2_] +9% and b =i+ pj+3k are
parallel vectors.

-

(iu)Fmdxanduif(zi+6}+27é)x(£+9j+p}€)=0.
(v) Write the value of i x (j+ &)+ j x (B +3) +Ex G + J). L
(vi)Writethevalueoff-(}xé)+}-(l€xf)+l€-(}xf).
(vit) Show that (Z_Z)X(Z+Z)=2(Zx3).
(viii) Find the value of (i x j)- &+ - ;.
(ix) Find the value of (x j)-i + ] - k.
4. Find the magnitude of the vector c_; X Z , Where:
- ~ ~ m e ~ ~ ~
() a=i—"T]+7Tk and b =3i — 2] + 2k
— a ~ A - A A ~
(i) a=2i+j+3kand b =3i +5j —2k.
- A x A - ~ A b -
5. Ifa=41+3j+kand b=i -2k, find|2b xa].
N n n - - A ,:' ~ - => - =3
6. Ifa=i—-j+2k and b=2i +j—k,find (2a - b)x(a +2b).

- -

- — - -
7. Find the angle between the vectors ¢ and b if|axb|=a-b

-

- - - - = -5 ' -
8. (i) Ifeither a=0 or b=0,then axb = 0.Is the converse true ? Justify
your answer with an example.

= —

- -
(ii) What inference can you draw about the vectors ¢ and b ifaxb =0 and

a.b :0?

Scanned with CamScanner



